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CROSSWORD PUZZLER
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17 Wrathful 53 Lagers
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22 Boston Red — 58 Mathematician N
24 Kenya's loc. — Descartes
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some laughs) drink 7 DEA operative Balzac
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40 Snowballed 4 Tasty tubers dragon fins
19 Volcanic rock
ENE 21 Gear tooth
22 Teamster rig
23 Burden
25 Nostalgic look
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Fill in the blank cells using numbers 1 o 8. Each number can appear only once in each row, 31 Make like a
column and 3x3 block. Use logic and process elimination fo solve the puzzle. The difficulty bronco
level ranges from Bronze (easies?) 1o Silver to Gold (hardest) 32 “The —the
: limit!”
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